o0 O0o0oIgd #90 2004-6-2 00

24 0JO00O0OOooOO
0000000000000000
00 2.11 z= f(z,y),z=a(t),y=y(t) 0000 +00000000000000000

de_ 0zdv  0zdy
dt Oz dt Oy dt

gobgoobooboobooboobobobobooboo

00 2122000000 z=uz(s,t),y=y(s,t)y 000

Jdr Oz
D(z,y) _ ? ?
D(s, 1) 9y %y

0s Ot
0000000000000000000000000000

i (322)

0000000000 (Doo0ooo)oooo
00 2132000000 z==a(u,v), y=y(u,v) 0 u=u(s,t),v=o(s,t) 0O0

D(z,y) _ D(z,y) D(u,v)

D(s,t)  D(u,v) D(s,t)

gboooog
ggbogooabood

ggod

2 2 2
0ooo 24 ooooooo 229297202 92 qoggg

(1) z=flz,y) =z +y’r+y=say=t
(2) z = flz,y) =2 +ya® +y> =s,2%y° =t
ogooo 2.5
(1) z =wucosa —vsina, y =usina+vcosa (a«000) 00000000
1) 22+ 22 =22 + 22
2) Zoa + Zyy = Zuuw + Zow
2Qz+ty=e"T, z—y=e"""000 240 —2yy =€ “(2uu —20,) 00000000000

000000000o0oooooooU http://math.cs.kitami-it.ac.jp/ kouno/kougi.html 0000000

34



B)zt+y=u,y=uw 000 22pp + Y2Zay + 25 = U2yy — V2w + 2, 00000000

0000 2.6 zx=rcosf,y=rsinf000 200000000)000 z= f(z,y) OODDO

ogooa

O(z,y)

a(r,0)

(5 (5 (- (25)
or y or r 00
ox2  Oy:  or2  r or  r2 002

()00000 000000

25 30000000

gbog20000000000000000000 3000000000002000000¢0
gboooobooboooooboooooan

00 2.14 00 y= f(xy,x2,23) O (z1,22,23) = (a1,a2,a3) 0 x; 00000000000

lim flar + h,az,a3) — f(ai,az,as3)
h—0 h

gbooouobobO0z,xs 000000 ODOOOOOOOO

1,z 00 zs 0000000000 0O0O0COOOCODOOOOOOODOOOOOOCOODOO 100
0000000000000000000000 2, 0000 (000 20,23 0000)0000
Ubdb0x, 000000000

of oy

87.731 8.231
goooon

Jogbooobooboobooooboobooboobooboboo

00 215 y = f(z1,22,23) 00 (a1,a2,a3) 0000000000000 (ay,a9,a3) 00000

OoOooOod
6(h1,h2,h3) =
0 0 0
flar + hi,a2 + ho, a3 + h3) — f(a1,a2,a3) — Ti(a1,a2,a3)h1 - 37352(@1’“2’“3)]12 - Té(ahaz,%)hz’,
N E T EY

0000 f(xy,ze,23) O (a1,a2,a3) 00000000

lim €(h1,h2,h3) =0
(h1,h2,h3)—(0,0,0)

gboooooo

gobgoooobo20b00b0oobooboooboo

35



00 2.16 y= f(z1,22,23), 1 = x1(t), 2 = x2(t), x3 = 23(t) OO O

dy _ 0:dwy | 0 dny | 0z doy

oo 21730000 3000 Tr1 = l'l(tl,tg,tg), To = .’£2(t1,t2,t3), I3 = xg(tl,tz,tg) ooad

Oxy  Ory Oy

Ot; Oty  0Ots

D({L‘hxg,.%'g) o 81‘2 8$2 8%‘2
D(t1,ta,t3) | 0t 0Ota  Ots
R I O

ot Oty Ot

00000 (b0)UooOoU0oooOooOoUooooOoUoo

(w1, 2, 23) 4 (D($17$2,$3)>
O(t1,t2,t3) D(t1,ta,13)

goboboooboooboo

00 218 2000000 I = $1(U1,U2,U3), To = l’g(ul,’LLQ,’LLg), I3 — xg(ul,UQ,Ug) O
Uy = ul(tl,tg,tg), U = UQ(tl,tg,t3), us = U3(t1,t2,t3) oon

D(x1, 23, 23) _ D(z1, 22, x3) D(u1,us2,us3)
D(t1,1t9,t3) D(uy,u2,u3) D(t1,t2,t3)

ggbgboboobooboooogad

D(uq,uz,us2) _ (D($1,$27$3))_
D(x1,29,23) D(uy,u2,us3)

goog

gobd 2.7 0OO0O0OOOOOOOObOOO
(1) w= f(z,y,2) = 2%y32* (2) w = zyzsin(z? + y? + 2?)
(3) e v (4) 2%y*log(a? +y° + 2%)

ow ow ow 0*w 0w Pw Fw
Os’ Ot Ou’ 0s2’ 0127 du?’ 9sot
(1)w::x+y2+z37x—|—y+z:s,a:y—i—yz—i—za::t,xyz:u
Quw=z+y+z22+y’+22=s2y’z2=t 2y +yz+ 20 =u

goooon

ugboo 28 0000000

0000 2.9 ax=rsinfcosp, y=rsinfsing, z=rcosf 000 (300000000000

w= f(z,y,z) 00000000

8($7y72)

a(r,0, )

o () () () - () (25 (o)
Ox Jy 0z ar r 00 rsinf Op

3) 82w+82w+82w:82w+38£+ 1 8(_ 8w>+ L ow
ox2  Oy? 022  Or2  r Or r2sinf 90 r2sin® 6 Op

(H)ooooo 0oooooo

36



